

$$\sum_{n=1}^{\infty} \frac{1}{(5n+1)(5n+4)} = \frac{1}{25n^2 + 20n + 5n + 4} = \frac{1}{25n^2 + 25n + 4}$$

$$n_{0,1} = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a} = \frac{-25 \pm 15}{2 \cdot 25} = \frac{-40}{50} = -\frac{4}{5}$$

$$n_{0,2} = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a} = \frac{-25 \pm 15}{2 \cdot 25} = \frac{10}{50} = \frac{1}{5}$$

$$\Delta = b^2 - 4ac$$

$$\Delta = 25^2 - 4 \cdot 25 \cdot 4$$

$$\Delta = 625 - 400 = 225$$

$$\sqrt{\Delta} = 15$$

$$\sum_{n=1}^{\infty} \frac{1}{(n - \frac{4}{5})(n + \frac{1}{5})} =$$

$$\sum_{n=1}^{\infty} \frac{1}{5(n + \frac{1}{5})5(n - \frac{4}{5})} = \frac{1}{25} \sum_{n=1}^{\infty} \frac{1}{(n + \frac{1}{5})(n - \frac{4}{5})}$$

$$\frac{4}{5} \cdot \frac{5}{3} - \frac{1}{5} \cdot \frac{5}{3} = 1$$

$$\frac{20}{15} - \frac{5}{15} = 1 \text{ o.u.}$$

$$B = -\frac{5}{3}$$

$$B = -A$$

$$\frac{1}{(n + \frac{1}{5})(n - \frac{4}{5})} = \frac{A}{n - \frac{4}{5}} + \frac{B}{n + \frac{1}{5}}$$

$$1 = A \cdot (n + \frac{4}{5}) + B \cdot (n - \frac{1}{5}) = A \cdot n + \frac{4}{5} \cdot A + B \cdot n - \frac{1}{5} \cdot B$$

$$n^1 \begin{cases} A + B = 0 \end{cases}$$

$$n^0 \begin{cases} \frac{4}{5}A + \frac{1}{5}B = 1 \end{cases}$$

$$\frac{4}{5}A - \frac{1}{5}A = 1$$

$$\frac{3}{5}A = 1$$

$$A = \frac{5}{3}$$

$$\frac{1}{25} \sum_{n=1}^{\infty} \frac{5}{3} \cdot \frac{1}{(n + \frac{1}{5})} = \frac{5}{3} \cdot \frac{1}{(n + \frac{1}{5})}$$

$$S_1 = \frac{1}{25} \cdot \left(\frac{5}{3} \cdot \frac{5}{6} - \frac{5}{3} \cdot \frac{5}{9} \right) = \frac{5}{75} \cdot \left(\frac{5}{6} - \frac{5}{9} \right)$$

$$S_2 = \frac{5}{75} \cdot \left(\frac{5}{6} - \frac{5}{9} + \frac{5}{11} - \frac{5}{14} + \dots \right)$$

$$\sum_{n=1}^{\infty} \frac{1}{25n^2 + 25n + 4} \leq \sum_{n=1}^{\infty} \frac{n^2}{25n^3 + 25n^2 + 4} = \sum_{n=1}^{\infty} \frac{1}{25 + \frac{25n}{n^2} + \frac{4}{n^2}} = \frac{1}{25} \quad \text{-- majorante}$$

$$a^c = b$$

$$\log_a b = c$$

$$\sum_{n=1}^{\infty} \frac{1}{n \cdot \ln n}$$

$$f(x) = \frac{1}{x \cdot \ln x}$$

$$f(x) \int \frac{1}{x \cdot \ln x} \cdot dx = \begin{cases} \ln x = t \\ \frac{1}{x} \cdot dx = dt \\ \frac{dx}{x} = x \cdot dt \end{cases} = \int \frac{x \cdot dt}{x \cdot t} = \lim_{\beta \rightarrow \infty} \int \frac{dt}{t} = \lim_{\beta \rightarrow \infty} \ln |t| \Big|_0^{\beta} =$$

$$= \lim_{\beta \rightarrow \infty} \ln \Big|_{\ln 2}^{\ln \beta} = \lim_{\beta \rightarrow \infty} \left(\ln(\ln \beta) - \ln(\ln 2) \right) = \infty$$

seriey $\sum_{n=2}^{\infty} \frac{1}{n \cdot \ln n}$ jest rozbierany do ∞

10.12.2010

$$\sum_{n=1}^{\infty} \frac{1}{n^2+1}$$

$$f(x) = \int_0^{+\infty} \frac{1}{x^2+1} dx = \lim_{\beta \rightarrow +\infty} \int_0^{\beta} \frac{1 \cdot dx}{x^2+1} = \lim_{\beta \rightarrow +\infty} \arctan x \Big|_0^{\beta} = \lim_{\beta \rightarrow +\infty} (\arctan \beta - \arctan 0) =$$

$$= \frac{\pi}{2} - \frac{\pi}{4} = \frac{\pi}{4}$$

$$\sum_{n=1}^{\infty} \frac{1}{n^2+1} = \frac{\pi}{4}$$

$$\sum_{n=0}^{\infty} \frac{1}{n^2+4n+8} = \sum_{n=0}^{\infty} \frac{1}{(n+2)^2+4} = \sum_{n=0}^{\infty} \frac{1}{(n+2)^2+4}$$

$$f(x) = \int_0^{+\infty} \frac{1}{(x+2)^2+4} dx = \lim_{\beta \rightarrow +\infty} \int_0^{\beta} \frac{1 \cdot dx}{(x+2)^2+4} = \lim_{\beta \rightarrow +\infty} \frac{1}{4} \int_0^{\beta} \frac{dx}{(\frac{x+2}{2})^2+1} = \left\{ \begin{aligned} & \left\{ \begin{aligned} \frac{x+2}{2} &= t \\ \frac{1}{2} dx &= dt \\ dx &= 2 \cdot dt \end{aligned} \right. \end{aligned} \right. = \lim_{\beta \rightarrow +\infty} \frac{1}{4} \int_0^{\beta} \frac{2 \cdot dt}{t^2+1} = \lim_{\beta \rightarrow +\infty} \frac{2}{4} \int_0^{\beta} \frac{dt}{t^2+1} = \lim_{\beta \rightarrow +\infty} \frac{1}{2} \int_0^{\beta} \frac{1}{t^2+1} = \lim_{\beta \rightarrow +\infty} \frac{1}{2} \cdot \arctan t \Big|_0^{\beta} =$$

$$= \lim_{\beta \rightarrow +\infty} \frac{1}{2} \cdot (\arctan \frac{\beta+2}{2} - \arctan 1) = \lim_{\beta \rightarrow +\infty} \frac{1}{2} (\arctan \frac{\infty+2}{2} - \arctan 1) = \frac{1}{2} \cdot (\frac{\pi}{2} - \frac{\pi}{4}) = \frac{1}{2} \cdot \frac{\pi}{4} = \frac{\pi}{8}$$

Stacey $\sum_{n=1}^{\infty} \frac{1}{n^2+4n+8}$ jest zbieżny

$$\sum_{n=1}^{\infty} \left(\frac{1}{2}\right)^n$$

$$a_n = \frac{1}{2} \quad q = \frac{a_{n+1}}{a_n} = \frac{1}{4} \cdot \frac{2}{1} = \frac{1}{2}$$

27.12.2010

$$s_1 = \frac{1}{2}$$

$$s_2 = \frac{1}{2} + \frac{1}{4}$$

$$s_n = \sum_{k=1}^n \left(\frac{1}{2}\right)^k = \frac{a_1}{1-q} = \frac{\frac{1}{2}}{1-\frac{1}{2}} = \frac{\frac{1}{2}}{\frac{1}{2}} = 1$$

$$\sum_{n=1}^{\infty} \frac{3^n}{(2n)!}$$

$$a. \lim_{n \rightarrow \infty} \frac{a_{n+1}}{a_n} = \lim_{n \rightarrow \infty} \frac{3^{n+1}}{(2(n+1))!} \cdot \frac{2n!}{3^n} = \lim_{n \rightarrow \infty} \frac{3^{n+1} \cdot 3}{(2 \cdot n! \cdot (n+1)) \cdot 3^n} = \lim_{n \rightarrow \infty} \frac{3}{n+1} = 0$$